Dim insRow

    insRow = 12

    'PUSHING DATA DOWN

    worksheet_name = "Registration Tally"

    Set row_insert = Sheets(worksheet_name).Rows

    row_insert(insRow).Insert

    'To Copy First Name to Registration DB Sheet:

    Worksheets(worksheet_name).Cells(insRow, 2).Value = Worksheets("Registration Form").Cells(10, 4).Value + ", " + Worksheets("Registration Form").Cells(10, 2).Value

    Worksheets(worksheet_name).Cells(insRow, 3).Value = 1

'Real Tally

'STEVES increment

'B) SECOND, you will harvest the information for the Registrations the student has registered for.

'The name of each Registration will be matched and added to the 'Registration Tally'

    'THE OUTER LOOP

    'For Registration information in rows 17-21 - define a variable called tmpRegistrationRowIndex

    'VisualBasic does not use the same syntax as Excel; you need the row, then the column.

    'The row has a number (here 17-21), and the column also has a number (here 5 [excel column E]).

    'tmpRegistrationRowIndex is an incrementer which increments each time you go to Next.

  'For tmpRegistrationRowIndex = 10 To 14  '(row,col) --> (tmpRegistrationRowIndex,5)

        'THE INNER LOOP

        'For the Registration Tally worksheet - each Registration is located from cell 4-33 in column A

      'For currentRegistrationIDRow = 12 To 40

            'If the information in row 17-21  matches the current Registration cell location(i.e. row 4)

            'of Registration Tally worksheet column 1 (Excel A).

            'then increment it.

            'if not, go to row 5 and so forth to row 33 until you find a match.

            'When you find a match,

            'in the same row as the match, increment the row item in the 'Tally Column" (column 3 [Excel C]).

            'Worksheet object has cell objects

            'If is boolean statement

            'YOu want the cell object that refers to the cell that matches the address of tmpRegistrationRowIndex

            'Like = a string match of sorts

            'Compare in Registration Form 17,5 to Registration tally 4,1

            'vb speak for 'Registration Form'!E17  compare  'Registration Tally'!A4

            'If there is a match, THEN

            'Increment the corresponding cell 2 columns over, for the tally

            'Worksheets("Registration Tally").Cells(currentRegistrationIDRow, 3) is VB speak for

            'go over two columns in the same row

            '.Value pulls out the contents of a cell

            'Then you take the (currentRegistrationIDRow, 3)value and add one (value + 1).

            'Voila

          'If (Worksheets("Registration Form").Cells(tmpRegistrationRowIndex, 5) Like Worksheets("Registration Tally").Cells(currentRegistrationIDRow, 1)) Then

              'Worksheets("Registration Tally").Cells(currentRegistrationIDRow, 3).Value = Worksheets("Registration Tally").Cells(currentRegistrationIDRow, 3).Value + 1

                'After you look at all of the rows, you stop looking in this little loop.

                'Next, you would then go down to the next possible Registration, in row 18 of Registration FOrm

                'and look through all the possible Registrations to match all over again.

                'This contines until you have gone through all five possible sign ups.

          'End If

        'For the next Registration ID in the next row, repeat the same steps as above (loop).

      'Next currentRegistrationIDRow

    'Then - repeat the procedure for the Registration registered for in row 18 and so forth to row 21. (outer loop)

  'Next tmpRegistrationRowIndex
